
SAP ABAP table TCKH2 {Assignment: Cost Element Interval - Cost Component Structure}

TCKH2

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

ELEHK [CHAR (2)]

KSTAV [CHAR (10)]

HRKFT [CHAR (4)]

ABKAT [NUMC (2)]

KSTAB [CHAR (10)]

ELEMT [NUMC (3)]

CSKA

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

KSTAR [CHAR (10)]

 TCKH2-KSTAB = CSKA-KSTAR 
0..N

1
 TCKH2-KSTAV = CSKA-KSTAR 0..N

0..N

T004

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

 TCKH2-KTOPL = T004-KTOPL 
0..N

0..N

TCKH3

MANDT [CLNT (3)]

ELEHK [CHAR (2)]

ELEMT [NUMC (3)]

 TCKH2-ELEHK = TCKH3-ELEHK 

0..N

{0,1}

 TCKH2-ELEMT = TCKH3-ELEMT 

0..N

{0,1}

TKKH1

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

KOATY [CHAR (2)]

HRKFT [CHAR (4)]

 TCKH2-HRKFT = TKKH1-HRKFT 

0..N

0..N


